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Assessment 3: External Analysis & Strategy Development
Learning Outcomes Assessed

9. Write a STEPP analysis.
10. Write an industry profile.
11. Complete an analysis using the Porter’s Five Forces model.
12. Complete a competitive analysis involving competitor profiles.
13. Identify key success factors for an industry.
14. Complete an industry foresight analysis.
15. Identify and evaluate alternative strategies for a business idea.
IMPORTANT NOTE:

To achieve this assessment you do NOT have to achieve all learning outcomes. Although 4 of the above learning outcomes are compulsory, you only need to achieve 2 of the remaining 3 learning outcomes.

The compulsory learning outcomes (which you must achieve) are:

· Learning Outcome 12: Complete a competitor analysis involving competitor profiles.
· Learning Outcome 13: Identify key success factors for an industry.
· Learning Outcome 14: Complete an industry foresight analysis.
· Learning Outcome 15: Identify and evaluate alternative strategies for a business idea.

You only need to achieve 2 out of 3 of the following learning outcomes:

· Learning Outcome 9: Write a STEPP analysis.
· Learning Outcome 10: Write an industry profile.
· Learning Outcome 11: Complete an analysis using the Porter’s Five Forces model.

Instructions
This assessment involves conducting an external analysis for a business plan and then developing and evaluating alternative strategies for the business.  
You should follow the business plan template for guidance on what needs to be included within each component of the assessment.  The case study example provided in the programme resources can also be used for reference.  A brief overview of the components that must be included is provided below:

Learning Outcome 9: STEPP Analysis

The STEPP Analysis involves identifying at least one socio-cultural / demographic factor, one technological factor, one economic factor, one political / legal factor and one physical / natural factor that may impact on the industry in which your business operates.  You must explain how each factor identified could impact on your business, and also state how large an impact each factor may have (and / or how likely it is to actually happen). 

Learning Outcome 10: Industry Profile

You must accurately answer at least 10 of the 12 industry profile questions provided in the Course Module.  Answers must be explained in a way that demonstrates that you understand each question and know how each question applies to the industry.  
Learning Outcome 11: Porter’s Five Forces

This component of the external analysis includes identifying and explaining: 

· How high the threat of new competitors entering into the industry is;

· The level of supplier power in the industry;

· The level of customer power in the industry;

· How high the threat of substitute products or services is; and
· The level of rivalry among existing competitors within the industry.

Explanations must show that you understand what each component of the analysis means. For example, you explanation to ‘how high the threat of substitute products is’ must demonstrate that you understand what a ‘substitute product’ is.

Note that answers given must be written in full (either both the question / statement and the answer must be shown, or an answer is written which makes it clear to the reader what component of the analysis is being answered).  

Learning Outcome 12: Competitor Analysis

At least three direct competitors, and three indirect competitors, must be identified for your business. If, in the particular industry, there are less than three direct (or indirect) competitors, then each of the competitors must be identified. For example, if there are only two direct competitors in the industry, both must be identified.

A competitor profile must be completed for each of the three direct competitors. This profile must include: 

· Name and location of competitor;
· A reason why this business is considered to be a direct competitor;
· Outline of how products / services are similar or differ to what will be offered by the you business;
· A comment on the perceived success of competitor;
· Strengths of competitor;
· Weaknesses of competitor; and

· Outline of what can be learnt from the competitor (Note that it is not acceptable to give an answer such as ‘nothing’).

Learning Outcome 13: Key Success Factors

You must identify at least three key success factors for the industry.
Learning Outcome 14: Industry Foresight

At least one possible / likely change, opportunity or threat in your industry is identified and explained. 

Learning Outcome 15: Strategy Development, Evaluation and Selection

At least two alternative strategies for your business must be identified and explained.  The evaluation of strategies should include your ‘original’ strategy. (So you will have three strategies, your original plus two alternatives)
Both of the alternative strategies must be evaluated against at least four of the following criteria:

· Consistency with Vision & Mission;
· Utilisation of skills;
· Ability to provide a competitive advantage;
· Addressing weaknesses;
· Addressing threats;
· Using opportunities in the industry;
· Feasibility; and
· A criteria developed by you.
A paragraph must be written identifying which strategy is selected and why.  This paragraph should be at least three sentences in length.

Marking Schedule: 
Learning Outcome 9: Write a STEPP Analysis

	Item No.
	Work required from tauira
	Achieved /

Yet to Achieve

	1
	A socio-cultural / demographic factor that may impact on the industry in which the tauira business operates is correctly identified.
	

	2
	A correct explanation is given regarding how the socio-cultural / demographic factor could impact on the business. The explanation details how large an impact the factor may have and / or how likely it is to actually happen. 
	

	3
	A technological factor that may impact on the industry in which the tauira business operates is correctly identified.
	

	4
	A correct explanation is given regarding how the technological factor could impact on the business.  The explanation details how large an impact the factor may have and / or how likely it is to actually happen.
	

	5
	An economic factor that may impact on the industry in which the tauira business operates is correctly identified.
	

	6
	A correct explanation is given regarding how the economic factor could impact on the business.  The explanation details how large an impact the factor may have and / or how likely it is to actually happen.
	

	7
	A political / legal factor that may impact on the industry in which the tauira business operates is correctly identified.
	

	8
	A correct explanation is given regarding how the political / legal factor could impact on the business.  The explanation details how large an impact the factor may have and / or how likely it is to actually happen.
	

	9
	A physical / natural factor that may impact on the industry in which the tauira business operates is correctly identified.
	

	10
	A correct explanation is given regarding how the physical / natural factor could impact on the business.  The explanation details how large an impact the factor may have and / or how likely it is to actually happen.
	


To achieve this learning outcome, tauira must fulfill at least 8 of the 10 requirements outlined above.
* Note: if more than one of each type of factor is identified, the tauira only needs to meet the requirements above for one of each type of factor.  For example, if 3 economic factors are identified, in order to achieve the learning outcome it is only necessary that 1 of these economic factors includes an explanation meeting the criteria given.  
Result:

Learning Outcome 9:






Achieved / YTA

Write a STEPP Analysis

Learning Outcome 10: Write an Industry Profile

	Item No.
	Work required from tauira
	Achieved /

Yet to Achieve

	1
	A minimum of 10 of the 12 questions are accurately answered.
	

	2
	Answers to at least 10 of the 12 questions demonstrate that the tauira understands the question and how it applies to their industry.
	


To achieve this learning outcome, tauira must fulfill both of the requirements outlined above.

Result:

Learning Outcome 10:






Achieved / YTA

Write an Industry Profile

Learning Outcome 11: Complete an Analysis using the Porter’s Five Forces Model

	Item No.
	Work required from tauira
	Achieved /

Yet to Achieve

	1
	Correctly identify and explain how high the threat of new competitors entering into the industry is.  The explanation demonstrates the tauira understands this component of the analysis. 
	

	2
	Correctly identify and explain the level of supplier power in the industry.  The explanation demonstrates the tauira understands this component of the analysis.
	

	3
	Correctly identify and explain the level of customer power in the industry.  The explanation demonstrates the tauira understands this component of the analysis.
	

	4
	Correctly identify and explain how high the threat of substitute products is.  The explanation demonstrates the tauira understands this component of the analysis.
	

	5
	Correctly identify and explain the level of rivalry among existing competitors within the industry.  The explanation demonstrates the tauira understands this component of the analysis.
	


To achieve this learning outcome, tauira must fulfill at least 4 of the 5 requirements outlined above.

* Note: For each of the 5 components of the analysis, the tauira must write both the question / statement and the answer, or write an answer that makes it clear to the reader what component of the analysis is being answered. 
Result:

Learning Outcome 11:






Achieved / YTA

Complete an Analysis using the Porter’s Five Forces Model

Learning Outcome 12: Complete a Competitive Analysis involving Competitor Profiles

	Item No.
	Work required from tauira
	Achieved /

Yet to Achieve

	1
	Correctly identify at least 3 direct competitors. 
	

	2
	Correctly identify at least 3 indirect competitors.

	

	3
	For each of the 3 competitor profiles, identify the location of the direct competitor.
	

	4
	For each of the 3 competitors, give a reason why you consider this business to be a direct competitor.
	

	5
	For each of the 3 competitor profiles, outline how the competitor’s products / services are similar or different to what will be offered by the tauira business.
	

	6
	For each of the 3 competitor profiles, comment on the perceived success of the competitor.
	

	7
	For each of the three competitor profiles, identify at least one strength of the competitor.
	

	8
	For each of the three competitor profiles, identify at least one weakness of the competitor.
	

	9
	For each of the three competitor profiles, identify what can be learnt from the competitor.  It is not acceptable to answer that ‘nothing can be learnt’.  
	


To achieve this learning outcome, tauira must fulfill at least 7 of the 9 requirements outlined above.
* Note: if tauira correctly identify that there are only 1 or 2 direct competitors in the industry, it would be acceptable for the tauira to only complete profiles for these competitors. However, if there are not any direct competitors, the tauira must complete at least one profile for the nearest indirect competitor. 
Result:

Learning Outcome 12:






Achieved / YTA

Complete a competitive analysis involving competitor profiles

Learning Outcome 13: Identify Key Success Factors for an Industry

	Item No.
	Work required from tauira
	Achieved /

Yet to Achieve

	1
	Correctly identify at least 3 key success factors for the industry in which the tauira business operates / will operate.


	


To achieve this learning outcome, tauira must fulfill the requirement outlined above.

Result:

Learning Outcome 13:






Achieved / YTA

Identify key success factors for an industry

Learning Outcome 14: Complete an Industry Foresight Analysis

	Item No.
	Work required from tauira
	Achieved /

Yet to Achieve

	1
	At least one possible / likely change, opportunity or threat for the specific industry in which the tauira business operates / will operate is identified and explained.
	


To achieve this learning outcome, tauira must fulfill the requirement outlined above.

Result:

Learning Outcome 14:






Achieved / YTA

Complete an Industry Foresight Analysis

Learning Outcome 15: Identify and Evaluate Alternative Strategies for a Business Idea

	Item No.
	Work required from tauira
	Achieved /

Yet to Achieve

	1
	At least two strategies for the tauira business are identified and explained (or described).
	

	2
	Strategy 1 is evaluated against at least 4 of the criteria listed in the instructions component of this handout.*
	

	3
	Strategy 2 is evaluated against at least 4 of the criteria listed in the instructions component of this handout.*
	

	4
	The preferred strategy is stated.
	

	5
	A paragraph is written explaining why the strategy (identified in item 4 above) was selected. This paragraph is at least 3 sentences in length.
	


To achieve this learning outcome, tauira must fulfill 4 of the 5 requirements outlined above.

* If more than two strategies are identified, at least two of these strategies must be identified against at least 4 of the criteria.
Result:

Learning Outcome 15:






Achieved / YTA

Identify and evaluate alternative strategies for a business idea
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